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AQA AS Chemistry exam practice answers 

2 Amount of substance

1
(a)
Amount of Mg = 9.20 ÷ 24.3 = 0.379 mol [1]

(b)
Amount of MgF2 = 0.379 mol [1]

(c)
Mass of MgF2 = 0.379 × 62.3 = 23.6 g [1]

(d)
Amount of MgF2 = 50.0 ÷ 62.3 = 0.803 mol [1]


Amount of Mg = 0.803 mol [1]


Mass of Mg = 0.803 × 24.3 = 19.5 g [1]

2
(a)
Amount of NaOH = 25.0 ÷ 1000 × 0.500 = 0.0125 mol [1]


(b)
Amount of HCl = 0.0125 mol [1]

(c)
Concentration of HCl =  1000   × 0.0125  =  0.862 mol dm−3 [1]

                                                    14.50
3

indium
oxygen
hydrogen


Amounts
69.2 ÷ 114.8
29.0 [1] ÷ 16.0
1.8 ÷ 1.0



0.603
1.81
1.80
[1] all mol values correct

Ratio
1
3
3



Empirical formula is InO3H3 [1]
4
(a)
Amount of HCl used = 16.6 ÷ 1000 × 0.150 = 2.49 × 10−3 mol [1]

(b)
Amount of moles of M2CO3 = 2.49 × 10−3 ÷ 2 = 1.245 × 10−3 mol [1]

(c)
Amount in 250 cm3 = 1.245 × 10−3 × 250 ÷ 25 = 1.245 × 10−2 mol [1]

(d)
Mr = 1.72 ÷ 1.245 × 10−2 = 138.2 [1]

(e)
Ar of M = (138 − 12 − 48) ÷ 2 = 39.1 [1]
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